

ANANABA Ikechukwu Nnante
 19/ENG05/012
 Mechatronics Engineering

$$1) \int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$= A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

when $x=3$

$$3(3)-1 = C(3-1)(3-2)$$

$$8 = 2C \quad \therefore C = 4$$

when $x=2$

$$3(2)-1 = B(2-1)(2-3)$$

$$5 = B \times -1 \quad \therefore B = -5$$

when $x=1$

$$3-1 = A(1-2)(1-3)$$

$$+2 = A \times 2 \quad \therefore A = 1$$

$$\therefore \int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \frac{1}{x-1} + \frac{-5}{x-2} + \frac{4}{x-3}$$

$$= \ln(x-1) - 5\ln(x-2) + 4\ln(x-3) + C$$

$$2) \int \frac{x^2+x+1}{(x+2)(x^2+1)} dx = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

$$\therefore x^2+x+1 = A(x^2+1) + (Bx+C)(x+2)$$

when $x=-2$

$$(-2)^2 - 2 + 1 = A(4+1)$$

$$3 = 5A \quad \therefore A = \frac{3}{5}$$

$$x^2+x+1 = Ax^2+A + Bx^2+2Bx + Cx+2C$$

$$= x^2(A+B) + (2B+C)x + A+2C$$

$$\therefore A+B=1, \quad 2B+C=1 \quad \& \quad A+2C=1$$

$$\text{But } A = \frac{3}{5}$$

$$\therefore B = 1 - \frac{3}{5} = \frac{2}{5}$$

$$2 \times \frac{2}{5} + C = 1$$

$$C = 1 - \frac{4}{5} = \frac{1}{5}$$

$$\int \frac{x^2+x+1}{(x+2)(x^2+1)} = \int \frac{3}{5x+10} + \int \frac{2x+1}{5(x^2+1)}$$

$$= \frac{3}{5} \ln(x+2) + \frac{1}{5} \ln(x^2+1) + \frac{1}{5} \tan^{-1}(x) + C$$

$$3) \frac{x^2+1}{(x-3)(x-2)^2} = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$\therefore x^2+1 = A(x-2)^2 + B(x-3)(x-2) + C(x-3)$$

when $x=3$

$$3^2+1 = A(3-2)^2$$

$$A = 10$$

when $x=2$

$$5 = -1C$$

$$C = -5$$

$$x^2+1 = Ax^2 - 4Ax + 4A + Bx^2 - 5Bx + 6B + Cx - 3C$$

$$\therefore 1 = A+B \quad 1 = 4A+6B-3C$$

$$1 = 10+B$$

$$\therefore B = -9$$

$$1 = 4(10) + 6(-9) - 3C$$

$$1 = 40 - 54 - 3C$$

$$3C = -1 + 60 - 54$$

$$= -15$$

$$\therefore C = -5$$

$$\therefore \int \frac{x^2+1}{(x-3)(x-2)^2} = \int \frac{10}{(x-3)} dx + \int \frac{-9}{(x-2)} dx + \int \frac{-5}{(x-2)^2} dx$$

$$= 10 \ln(x-3) - 9 \ln(x-2) + 5(x-2)^{-1} + C$$

$$4) \int x^3+x^2+x+1 dx$$

$$\int \frac{x^3 + x^2 + x + 1}{x-1} dx$$

$$x^2 + 2x + 3$$

$$x-1 \sqrt{x^3 + x^2 + x + 1}$$

$$-x^3 - x^2$$

$$2x^2 + x$$

$$-2x^2 - 2x$$

$$3x + 1$$

$$3x - 4$$

$$4$$

$$\therefore \int \frac{x^3 + x^2 + x + 1}{x-1} = \int (x^2 + 2x + 3) dx + \int \frac{4}{x-1}$$

$$= \frac{x^3}{3} + x^2 + 3x + 4 \ln(x-1) + C$$